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1.You administer your company’s Windows network. The network consists of 25 Windows Server 
computers. The network contains an offline root Certification Authority (CA) located in the main office and 
a subordinate issuing CA in the main office and each of the remaining four retail locations. 
One of the four retail locations has been purchased and will operate as a franchise. You must ensure 
that resources on the company network will not accept certificates from the associated subordinate CA in 
this retail location after the sale is completed. Your solution must use a minimum amount of 
administrative effort. 
What should you do? 
Each correct answer presents part of the solution. (Choose three.) 
A. On the company’s root CA, revoke the certificate of the subordinate CA. 
B. Disconnect the subordinate CA from the network. 
C. On the subordinate CA, remove the CA software and remove the CA files. 
D. On the subordinate CA, revoke the certificates that it has issued. 
E. Publish a new Certificate Revocation List. 
F. Copy the Edb.log file from the root CA to its Certification Distribution Point on your network. 
G. Copy the Edb.log file from the subordinate CA to its Certification Distribution Point on your network. 
H. Copy the Certificate Revocation List file to the Certificate Distribution Point on your network. 
Answer: AEH 
 
2.What is the base subscription required to get started with a Mist access point? 
A. Wi-Fi Management and Assurance 
B. Premium Analytics 
C. Virtual Network Assistant 
D. Mist Edge 
Answer: A 
 
3.When determining design requirements, which statement is correct about the primary coverage 
requirement? 
A. The minimum signal strength from the primary access point must be -67 dBm or better. 
B. The signaling rate, not the throughput, must be considered. 
C. One access point on a channel must be above -85 dBm. 
D. The background noise must be 25 dBm. 
Answer: A 
 
4.You are working as the administrator at ABC.com. The ABC.com network consists of a single Active 
Directory domain named ABC.com. The ABC.com network contains a DMZ that contains a two-node 
Network Load Balancing cluster, which is located in a data centre that is physically impenetrable to 
unauthorized persons. 
The cluster servers run Windows Server Web Edition and host an e-commerce website. The NLB cluster 
uses a virtual IP address that can be accessed from the Internet. 
What can you do to mitigate the cluster’s most obvious security vulnerability? 
A. Configure the cluster to require IPSec. 
B. Configure the network cards to use packet filtering on all inbound traffic to the cluster. 
C. Use EFS on the server hard disks. 
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D. Configure intrusion detection the servers on the DMZ. 
E. Configure Mac addressing on the servers in the DMZ. 
Answer: B 
 
5.Under ideal conditions, which frequency band will have the farthest usable range? 
A. 6 GHz 
B. 900 MHz 
C. 2.4 GHz 
D. 5 GHz 
Answer: C 
 
 


